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QUESTION 1

Select the false statement. 

A. 75% = 3/4 

B. 75% > 0.65 

C. 75% 

D. 75% = 2/375% > 0.34 

Correct Answer: D 

 

 

QUESTION 2

A state law requires that there be one certified teacher for every 15 preschool students enrolled in a state-certified
school. How many certified teachers are needed at a center with 150 preschool children? 

A. 5 teachers 

B. 10 teachers 

C. 15 teachers 

D. 20 teachers 

E. 25 teachers 

Correct Answer: B 

 

 

QUESTION 3

You purchase a new car for $16,780.00. The sales tax rate is 6%. How much tax do you pay? 

A. $100.68 

B. $604.08 

C. $1006.80 

D. $1678.00 

E. $10,000.00 

Correct Answer: C 
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QUESTION 4

The school dance committee is planning to decorate the gym with extra large bows. Each bow requires 48 inches of
ribbon. How many yards of ribbon will the committee need to buy if they want to make 12 bows? 

A. 4 yards 

B. 12 yards 

C. 14 yards 

D. 16 yards 

E. 96 yards 

Correct Answer: C 

 

 

QUESTION 5

An auto technician uses a micrometer to make two measurements. The first measurement is 2.374 units and the second
measurement is 3.005 units. What is the total of the two? 

A. 0.626 

B. 0.631 

C. 4.374 

D. 5.165 

E. 5.379 

Correct Answer: E 
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